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Question Paper kindly check y

our test booklet and O.M.R.
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The serial numbers of
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All pages of test booklet and O.MR. an
Properly printed. Al Questions from S. No. 11,

are printed and pages from S. No. 1 to last
in the question booklet.

Case of any discrepancy/defect the candidate should

atter to the invigilator for replacement of
answer sheet. No claim/objection in this
regard will be entertained after five minutes of start of examination,
Candidate will be liable forit. ' o

3.  Answeral Questions. .
All questions carry equal marks. .
Only one answer is to be given for each question.

f more than one answers are marked, it would be treated as
Wrong answer.

test booklet ang O.M.R. answer sheet

Swer sheet are
0 last S. No. 100
S.No.16 are there
lnb

4.
S.
6.

Negative marking is applied, one third (1/3) of the marks
allotted to the question will be deducted for every wrong

Each question has four altemative responses marked sel?'ally
as (A), (B), (C), (D). Candidate has to darken only one circle

or bubble indicating the correct answer on the Answer Sheet
using BLUE BALL POINT PEN.

| 8. Use of Mobile Phone/Bluetooth Devices or any 'o.ther
! electronic gadget in the examination hall Is'strlctly prohlptted.
If any such prohibited material is found with any candidate,
strict action will be taken by the Board against him/her as per
: 0. Irfui!?l;are is any sort of ambiguity/mistake either of printing or
g factual nature In Hindi and English version of the question,
the English version will be treated as standard.

| i F.LR. would be lodged
3 ial is found in his/her possession,
" -g?;r;? h;fn/her in the Police Station and he/she would be liable to

fleans Act, 1992 and Board Regulations. Board may also debar
h’n/her permanently from all future examinations of the»Board.
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In 17™ century’s “Sisodia-Rathore Alliance”,
the rural of Mewar was —
(A) Maharana Sangram Singh - 11
(B) Maharana Raj Singh - 1
(C) Maharana Amar Singh - 11
(D) Maharana Jagat Singh - 1 ,
178 vl @ RfRu—ele reduE ¥
AT &1 YRS AT —
(A) wERm |Wuw R - 11
(B) wEwRmon It g - 1 E
(C) wEw™m R Riw -1
(D) wewron STa R - 1

2. Where “Rajiv Gandhi Fintech
Institute™ is to be established?
(A) Jaipur (B) Jodhpur
(C) Udaipur (D) Kota
“Rroig L fBce fSfiea sfveege” oY
WG $E R B TRA?

VA) SaqR H (B) SiargR #

(©) SeaR 4 (D) Frer #

(® Which of the following pairs (Currency -
Issuers) is not correctly matched?
(A) Vijaishahi - Bikaner
(B) Gajshahi - Jodhpur
(C) Jhadshahi - Jaipur
(D) Akhaishahi - Jaisalmer

Digital

fr=fefaa & | dFmr g (e — Rarad)

Efera &l €7
(A) fasaemél — §amR
(B) TToTeITEl — SYR

(C) FTSTET — mxg?]&

5 (D) SREET — TIRICTHY

4. \How many languages of Rajasthan are
mentioned in Kuvalayamala?

9. Which organism causes the Kala-azar disea

SR RlieR BRE” @1 AT FAR § Fa
fosar arar? '
(A) 7T, 2022 (B) ¢, 2022
(C) arfta, 2022 (D) S7a, 2022
On 19 December, 2021 which scheme has
been started by the department of Women and
Child Development in Rajasthan?
(A) Balika Vikas Yojana
(B) Udaan ke Sath Shakti Yojana
(C) I Am Shakti Udaan Yojana
(D) Jagrati Bal Vikas Yojana
roRer A wfgen gd gt e e &R

| arferd e Ao @1 19 fREwR, 2021 1
IR™ far mar?
() Tifera famra are
(B) S & W wfd AT

\ IS 3TE. 7. e S AT
(D) SIpfYy arer fre Arer

- Vivaan Kapoor is related to which sport?

(A) Rifle Shooting (B) Kabaddi

* (C) Kho - Kho (D) Boxing
faam R fra e @ w8

gfeT (B) Hass!

©) @ — @ (D) gifd=T

- Which of the following pairs (Book —Author)

is not correctly matched?
(A) Ragunath Rupak - Mancharam Sevag
(B) Suraj Prakash - Karnidan
(C) Desh Darpan - Shankardan Samaur
(D) Kirtar Bavni - Kavi Isardas i
fraflas # 4 s g™ (Qe—aas) i
IR &7 i
(A) AT TUD — HORM Jai|
(B) I[RST W1 — Heolia™

" (C) 1 g —¥iaRE™ |HR
(D) foRReR qrE — B SeRew

(A) Amoeba
(C) Plasmodium

(B) Leishmania
(D) Planaria

BT ST STe—araTR SR &7 BRoT &
(A) apfrar (B) ferifrar/
(C) wiwiferm (D) wRRar

(A) 18 (B) 08
(€) 06 b 28
FaGEAN § o B fadl i
g 87
(A) 18 (B) 08
. (C) 06 (D) 28
@ When was the “Jaipur Theater Fest” organized
in Jaipur? .
(A) March, 2022 (B) May, 2022
(C) April, 2022 (D) January, 2022
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he founder of Ren Branch of Ram Snchi Sect
was -

(A) Saint Ram Charan ji
(B) Saint Haridas Ji
(C) Saint Dariyav Ji

(D) Saint Hariram Das Ji

RS W A Y1 v @ gads o —
(A) |9d ImERr oY
(B) wa sRemy oh

(C) wa zRam h E
(D) Wd &M T/ Wi

1. First mammal to be cloned was -

A (A) Goat (B) Rat
,/\ (C) Sheep (D) Frog
FAA & SR aren ggar Rl or —
(A) T3 (B) 7T
(©) Wi (D) Hew

12.  Pre-Cambrian rocks of Rajasthan are basically

described by -
(A) M.S.Khurana (B) La Touche
(C) A.M.Heron (D) C.A.Hacket

e f-ofmE wgEl @1 s

o feas grr far mar 22
(A) TR (B) &1 T/
(C) TTAERA (D) A ggde

@Rajasthan’s famous folk art “Bewan” is -

(A) A temple shaped figure made of wood with
doors.

(B) Presenting the life of a folk deity through
paintings on a khadi cloth.

(C) A sword shaped figure made of wood
which is used in Ramleela drama.

(D) A throne made of wood on which the idol
of Thakurji is adorned and seated.

ORI &1 Ufig Ad el 9@’ § —
(A) Furel gad adsl @ fAffa . e
Sieany |

(B) @rél & HUS WR i <ddl B ia= Pl

fersti @& ArEAW A URd BRAT
(C) da< ¥ fAffa goarTgm ansfa Rrawr
INT AT Ared W faar S 2
(D) g&d & fAfifa fdere o/ w arazol
1 ofd &1 YmRa s dor ST |
14. Red and yellow soil is found in which district
of Rajasthan? -
(A) Sawai Madhopur-Sirohi-Bhilwara-Ajmer
(B) Ajmer-Sirohi-Dungarpur-Banswara
(C) Sawai Madhopur-Kota-Bhundi-Bhilwara
(D) Sirohi-Ajmer-Tonk-Jaipur

: A\ (C) 174} wrarsdy
(9

RO & fae1 et 3 aret @ e
w22 Ll
(A) a1 MENGR—RRA - frerarei—arem
\_1B) ST AR -ee afearst @
(€) W AENR—Prei—gE— s X
(D) RRIE—3raR—TiH—TIYR
Which is called the emergency hormone in the
human body?
(A) Insulin (B) Adrenaline
(C) Thyroxin (D) Progesterone
wrd TR W bt &THIA T STATpTeI ETHIA

el Tl 27
(A) Z=if2r e oo
(C) yrRifda= (D) yroeE

16. Batool Begum is related to which singing
tradition of Rajasthan?
(A) Qawwali singing (B) Gandharva Gaan
(C) Phad singing (D) Mand singing
A T BT T IR Bl b T

RAERT 9 87
(A) Fearell T (B) Tierd T
(C) v MaA (D) Hi© IMaH

1% Haveli painting belongs to which century?
(A) 20" century (B) 18" century
(C) 17™ century (D) 19 century
ol faden fe waredt @ <9 87
(R) 2091 =raredt (B) 1841 wrare)
(D) 194} wrares)
Which of the following statements is/are true
in relation to Abhaneri?
(1) The Harshat Mata temple here was built
by the Feudal Chauhan’s of Pratiharas.
(2) The Chand Baori of Abhaneri is world
famous. : -y
(3) There is a famous temple of goddess
Pippalada.
Choose the correct code -

(A) (1), @and 3)  (B) (1)and (2)

(C) Only (3) (D) Only (2)

Ml @ wWe W fefaRea d 9

W/Wﬁmﬁéﬁ? ‘

(l)mﬁfﬁﬂaﬁawﬁﬁ?mﬁﬁw
HEM N AR o |

(2) WEl A df A fwm U= B
(3) T @1 fwere w1 AR AR )

Wil e gfe -
(A) (1), (2) 3R 3 B) (1)3R (2)
(©) Baet (3) (D) et (2)
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19 Match the following —

Institution
(A)  Rajasthan Seva Sangh n
., (B)  Desh Hitaishini Sabha =~ '

(C) ©  Veer Bharat Sabha

(D)  Sarv Hitaishini Sabha
Founder "

(1) Vijay Singh Pathik, Ram Narayan
Choudhary, Hari Bhai Kinker

) Kesari Singh Barhath

(3)  Swami Gopaldas

(4)  Maharana Sajjan Singh

Choose the correct code -

(A) A’1,B-2,C-3,D-4

(B) A-4,B-2,C-3,D-1

(C) A-1,B-4,C-2,D-3

(D) A-3,B-1,C-2,D-4

i i
Raka2l|

(A) IIOTRIM 9T 99
B) < Aol |
(C) IR 9Rd |

(D) 949 fRAfyol T

e TR UREET B AR F P B

\

(1

RS fhax
2 au g 9Res
(3) B MR .
4) ¥R A R ‘
el A(e i — 3

(A) A-1, B-2,C-3,D-4
(B) A4, B-2, C-3, D-1 v
\JETA-1,B4,C-2,D-3~ e
(D) A-3,B-1,C-2,D-4 i
20.\ Which statement is correct about Bhakra
Canal project? : ‘

})/ It is a joint project of Punjab-Haryana-

©)
(D)

Correct code is -
(A) A,BorC
(C) A,BorD

S \18A- @

=

NGRS

Rajasthan,

It provides irrigation to Hanumangarh

district.

Rajasthan’s share is 17.22%.

It irrigates 2.3 Lakh Hectare of

agricultural land. Tk
af- i

(B)BorC

D)B,CorD

T 27 _
(A) UE GSE—ERIAT AR oReE Bl
Fgaa aRASET B
(B) TN wIAMTE frel B Riwng gfen
g B 2
(C) TR &1 R 17.22% B | ]
N 0w 23 o W P A
9 Rifera vl 21
L wagi- |
>  (AABIRC (B) B 3R C
© (@A BskD (@B C3IRD
™™ 21. Match the following —
Mine
] (A) Degana
o (B)  Mando-ki-pal
Q (C)  Jhamar Kotra
> (D) Goth-Manglod
- Mineral
E (10} Tungsten E"'
= In Florspar
(IIT)  Rock Phosphate
(IV)  Gypsum
™~ Correct code is -
ET) _(A) A-IL, B-I, C-III, D-IV
<+ (B) A-I, B-II, C-III, D-IV
g’ (C) A-IV, B-II, C-III, D-I
0 - (D) A-L, B-II, C-1V, D-III
B gﬁn%m PR —
- | j
LA =T,
N (B)  HiS-l-UTdd
;’;l (C) R P
< D), Me—wTER |
B: Gt
39: D) TR
— (D) | wARuR
o e pRee
(1v) fRr=m
el e ¥ —

(A) A-I1, B-1, C-III, D-1V

~B) A-1, B-I, C-III, D-IV
@By A-1V, B-11, C-II, D-1

(D) A-1, B-II, C-1V, D-III
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22. Which one of the following is not correctly Which Statement is correct?
matched? Statement A —Sambhar is the largest salt
water lake of Rajasthan.
(A) DOTS - Tuberculosis ' ! Statement R — Sambhar lake isj located
(B) AB* Blood group —Universal Donor ~betwe:en 74° to 75°E longitudes.
(C) Adrenaline - N Correct code is -
o ormone c’f‘! (A) Only R is correct
(D) DPT - Vaccine » § (B) A or R both are correct
frefafag & N . ) (C) A or R both are not correct
A A qAferT et &7 Océ (D) Only A is correct
(A) DOTS — erar V- BTN B T 27
(B) AB* X1 I[g — wdera AN FUT A — PR IAORIF B FEY T @R
(©) TRARTT — 2 B S R o
FYT R — IR N 74° 9 75° Gdl QiaRl
(D) DPT — &1 % # Rerd 21
. . HC & —
23. Late. .HlSanlud-dm was an accomplished artist S:; (?:\)ﬁ?fhﬁﬁ%; g ®
of which Handicraft? > T (B) A 3R R eFi @9 &
(A) Jatt Patti craft ~ (B) Usta craft OCC (C)A SRR IA 9 T &
(C) Thewa craft (D) Meenakari il (D) Faet A FI B
| 27. Which s the biggest Thermal Power Station of
w fRamen fow swaffien & fRigew Rajasthan? '
FATFR o7 A (A) Barsingsar Thermal
‘ T (B) Giral Thermal
S wre T el (B) S EALIFE % (C) Suratgarh Thermal
y\ oraT ell (D) Hi=TeHTY ~ (D) Kota Thermal
Pancreatic juice contains which enzyme that ¢ 31_:{%? EISEN R ﬁgﬁ
breaks down emulsified fats? g ' g (A) EF\’ﬁ?EW o
(A) Trypsin (B) Amylase gy | . (B) fiRTeT o
4 Pepsin . (D) Lipase & |\ A8) IR o -
. . N (D) @reT o« 3
SRl I A B A gered E-"IT-IT & Gﬁ":ﬁk 28. Whois called the ‘forgotten Hero of Marwar’?
THCHIBISS 99T B disdl 87 - \ C:’JI -~ (A) Rao Chandrasen (B) Rao Gangdev
(A) feafi= (B) srrzera X ic} -~ (C) Maharaja Ajit Singh (D) Sur Singh
| ; < ARATS BT YeA AR T 5 FeT S
©ifE - DR G S
25. Sarvottam Vilas, Gaj Vilas, Jawahar Vilas is ¥ | \_4&0T 53 (B) 31T Treg
situated in which of the following forts? 2 (©) wERTST 3rofia RE (D) ) Riz
- On the second day of marriage, reception and
. B g€, recep
(A) Mehrangarh fort  (B) Sonargarh fort\ " feast is organised for the newly weds by the
(C) Bala Quila (D) Jalore fort groom’s side. What is it called?
(A) Badhar (B) Aano
WA e, T 'aa"ﬂf i faremms (C) Ku (D) Aulandi
frefead # & fara gt 7 Rerd &7 foate @ gy R @ uer g7 AAGURT B forg
(A) FgrrrTg g (B) WrRTG gl JTefiafe TARIE 7 dfoie B T FEd &
© R (D) iz f (A) geRr o (B) ot
. ©) 5 ' (D) 3ftcic
118A- ’ Page 5 of 16




30. i S : i
\Vhl.Ch of Ehesc statements is/are not true in
relation to “Gentlemen agreement”?
(1 This agreement wag donein 1942 A.D.
?) It is related to the princely state of
Jhalawar,
3) According to this agreement the

princely government will not help the
British in future.

Choose the correct code -

(A) (1) and (2) (B) Only (2)

(C) Only (3) (D) None of these

S whie” @ < ¥ Prafie § A

PITAT/ DAY BUT G T8} &7 ‘

(1) T8 giiie 19428 % garr o)

() THS HIY Arerars Rarra § 2

(3) 39 Ui & agaR Rawd War

s 4§ U B HAeg L B

e T ghT — ~

(A) (1) 3R (2) (B) Baet (2)

(C) Baa (3) (D) 37 | PIg Ll
31. Identify the chronology of the following

Battles — i '

1) Battle of Haldighati

(2)  Battle of Khanwa -

3) Second Battle of Tarain -

Choose the correct code -

(A)2,3,1 (B)1,3,2
(©3,2,1 () 1,2,3
Prefafaa g2t &1 98 8

(1) Bc<ardl &1 gg
2) G TE
(3) aEa F fgda gg

wel g2 g —
() 2,3, 1 (B)1,3,2
©3,2,1 (0 1,2,3 7~

32. "Who has been awarded the Sahitya Aka
Award 2021 for Rajasthani language?
(A) Raj Rahi-. (B) Meethesh Nirmohi
(C) Namita Gokhale (D) Anuradha Sharma

aifec srTeAl YRIPR—2021, ISR ATy

@’hich one of the following is not an .
antioxidant?

(B) Vitamin E

(A) Selenium
(D) Lycopene

(C) Aspartame

frefafaa 3 ¥ I @ 9fy sifedieoR®

78} 87
(A) dafaa (B) fReifas E
(C) TWRSH (D) STz
34. The escape velocity of the earth is -
11.2 km/sec (B) 13.6 km/sec

(C) 19.2 km/sec (D) 11.9 km/sec

gedl T TATET AT & —

(A) 11.2 f5H/ s (B) 13.6 fFA/ Ads

(€) 19.2 f&#/ Jps (D) 11.9 fFA/ Jds
35. The foundation stone of world’s third largest

cricket stadium was laid on 5™ Feb, 2022 at -

(A) Kishangarh (B) Sanganer

(C) Chonp (Jaipur) (D) Jodhpur

g & TR e 93 fhoe wfegw &1
R 5 BRaR), 2022 B wai fhar Tar?

(A ferTTe (B) | R
Y (SAQR) (D) SR
ich is not correctly matched?
(M) DB’w climate region — Northern
Rajasthan _
(B) CA’w climate region — South-eastern
Rajasthan

A’d climate region — Eastern Rajasthan
(D) DA’w climate region — Mid-Rajasthan

BT I e gAfera T8 87
* (A) DB’'w SoTdlg URT — ST ISIRA
(B) CA'y STetary seer — -t rarer Y
(C) EA’d STerarg wewr — . qdf <rore = X
) DA'w STay Q¥ — el XTSI
Involuntary actions like blood pressure and
pmiting are controlled by which part of
< Q Whindbrain?
, A) Pons (B) Medulla oblongata
(C) Cerebrum (D) Cerebellum

Ty R I SR ariifRed fhawit @)
uza ARASs @ fa wnr grr Prifg R

& forg famy faam mam &7 : ST 87

(A) I TE m?}w fomitd (A) Y=g (B) W .

(C) Afar e (D) srgrer ¥t (C) & R it
118A - @ Pagesohs ‘ R




38 Which of the following forests are often called
the “Lungs of the Planet™?
(A) Taiga forest (B) Tundra forest
(€) Amazon rain forests (D) Monsoon forest

Frafafad & ¥ fam aa @) ormr gl UE
D DHI B WY N S A 27

(A) & @ (B) gugl 7
ST af @ (D) ARG

33, Where is Lok Kala Mandir located?
{A) Jaipur (B) Udaipur
(C) Bikaner (D) Jodhpur
P Fer AR Ef Rera &2
(A) STAgR (B) SqugR
(C) §fiHmR (D) SEIgR
Match the following —
District
Banswara
Jaisalmer
Dholpur
Ganganagar ,
Latitude/Longitude
30°12'N
69°30'E
(IIT) 23°3’N
V) 78°17'E, _fﬁ,
Correct code is - '
A-IIL, B-II, C-I, D-IV
~ (B) A-III, B-I1, C-1V, D-I
(C) A-11, B-III, C-1V, D-1

-1, wD-III
LA R Aty -

(A)
(B)
©)
(D)

@
(I -

Y% L

forem
(A) 9rHargT iy
(B) SR E '
(C) g
(D) RKIEUES

IR
(I)  30°12' IW
an. 69°30°gd I
(1)  23°3 SR Cﬁ
(V) 78°17°gd ygfﬂi
[ e &

(A) A-111, B-11, C-1, D-IV
(B) A-111, B-1I, C-1V, D-1
(©) A-11, B-1IL, C-1V, D-1

\ BT AL, B-11, C-1V, D-III

@h‘lc? is the hardest substance in the human
dy

(A) Skull Bones (B) Finger Nails

(C) Kncccap (D) Tooth Enamel

AT YRR BT qaY HORAT T ¥ —

(A) AU Y g (B) Suferdl & g

(C) ge=t & &3dr D) Tl &1 9 (uxa)
42. Who is the brand ambassador of Beti Bachao

Beti Padhao campaign in Rajasthan?

(A) Avani Lekhara  (B) Mithali Raj

(C) Sarika Gupta (D) Gulabo Sapera

ORI A 9 a9 yerh A &
Fie TSR B 27

AT ) S (B) forareht ¥t

(C) wRepT =T (D) T[eTar |

43. Which is not correct?
(A) Mechanized agriculture is practised in

Ganganagar district.

(B) Humid south-eastern plain is suitable for
soybean cultivation.

(C) Suratgarh agriculture farm is established
with the help of Russia.

(D) Mahi-Kanchan is a high yielding variety of
rice in Rajasthan.

BT I 87

(A) Tty HfY TR fre # wafeaad g1

(B) 3t <for gt dem WA @ W @
ford Suga ¥

(C)RATe P HF @ RGAT wH DI
FEgdr ¥ B TS 2

(D) AE-das ISR W Aad @ 9=
IAEHAr o7 arell fFE )

44 In which part of the body do women wear
* “Damana” ornament?

(A) Nose (B) Feet
(C) Finger (D) Ears
“qEOT’ ImyEer Rt IRR @ few am |
e 87
(A) 1 (B) R
(D) &1

45. How is the ancient historical place “Aashram
Pattan” known in Modern Times?
(A) Jhalrapatan (B) Viratnagar
(C) Keshoraipatan (D) Bhinmal

W e wre comsm ueed” @
IMfAD gEaE & - -

(A) SITeRMTEH (B) fdRte TR

(C) B¥IRIAYre (D) WHTe

118A - &
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46. Which one " of the following - pairs
(Archacological Site — Related District) is not
correctly matched?

(A) Jodhpura - Jaipur

(B) Synari - Jhunjhunu
(C) Gildnd - Rajsamand
(D) Offigana - Chittorgarh

; Wﬁﬁaﬁﬂww(gvm—

jaferEANTen) gafora e {7
(A) STEYRT — SAYR
(B) T — 3
(©) firrs - A=
- RreTg

47." Accofdihg to census 2011, which district had
the lowgst sex ratio in the age group of 0 to 6
in Rajagthan?

(A) Gafiganagar (B) Jhunjhunu
(€) Dfipipur (D) Dausa

SITOFT 2011 & IER, ORI ¥ 09 6

g 7 A e fermgura few Rrer § o
BT ®gg{
(©) sierqR (D) 2=

48. Whichrdistrict of Rajasthan has got the second
place <ih the country under the “Prime

Ministers Housing Scheme” in June 20217
(A) Dyfigarpur (B) Jodhpur -
(C) Afmer (D) Jaipur

S 202, “gUTHE ATy AreEr a%zaga

m%%ﬁiﬁaﬁ%ﬂﬁmgw'l

o< §307 S
\AA) LT (B) iR

(© O waR

49. Wh?gd Maharana Pratap establish his new |
capi Chavand? ' o
(A) 1585 AD (B) 1594 AD
(C) 1576 AD (D) 1582 AD
HERION a9 5 U= 74 o1 grqoe 3§
% g a? .
(A) 1585 %, (B) 1594 ¢,
(C) 1576 Sk _ (D) 1582 €.

s Which scholar made a scientific division of
Rajasthani painting style in his book “Rajput

paintings”?

(A) Ananda Coomaraswamy
(B) Eric Dickinson

(C) Dr. Shridhar Andhare

A -
el

51.

i

forar?

(A) aira FAR @A
(8) TR R
(©) <. #MeR 3R
(D) <. BT el

The minimum number of straight lines

required to make the fogoq:v:\;nzgﬁ ﬁf%;(rze is —
el il B <A G § -
L1l
- (A) 12 AB) 10

(D) 9

€) 11 :
@ind the missing number from the given

alternatives —

fag Ty fawedl § & ga HeEw s B —

L

L
L 66

é&>® 71
C) 72 : (D) 78
@ cuboid has six sides of different colours.
The red side is opposite to black, the blue side
is adjacent to white.

adjacent to blue. The red side is face down,
Which one of the following would be the

The brown side is

(D) Dr. Fayaz Ali

118A- @
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opposite to brown? 1“7
(A) Blue (B) White 2
(C) Black. (D) Red -
U e A R A o w8
a%ﬁm%}mw%aﬁaﬁ;g,
ﬁw%mﬁﬁaﬁmﬁw%ﬁqﬁam_?
(A) =ier (B) ywg
(C) ®rem N (D) Srer
SJ\}/ A
12—
SPEREVEE ‘\E/Mk/



3
"{ =
54. Raju’s father’s age is 5 years mo\;‘c than three
times of Raju’s age. Raju’s father is 44 ycars
old, then age of Raju is -
(A) 39 years (B) 14 years
(C) 13 years (D) 12 years

W] B A D ey e A omg B A
A5 ad Al @) wog B frar @ amyg 44 T

S p= 355
(®

The average of 25 results is 18. The average of
ﬁmt twelve of them is 14 and that of last
twelve is 17. Find the thirteenth result -

(A) 78 (B) 70

(C) 66 (D) 74

25 uRommat @1 o 18 2, R wom are
fﬁraﬁvﬁlzt@arﬁmmgaﬂsﬁmn%l

g, a1 IS 3 3y el — < N
(A) 39 (B) 14 7 ol 133 i B p=- 2o
= (A) 78 (B) 70 -
er 13 o (D) 12 o Lep (©) 66 (0) 74 N
55. If ‘sky’ is called ‘sea’,sea’ is called ‘water’, Eg’ 59 . . . :
‘water” is called ‘air’, ‘air’ is called cloud <-f - Which 0{ 4the fol_l;)wmg rational number lies 8
and “cloud’ is called ‘river’, then whatg ' -between —and —? Lon= 2841
drink when thirsty? “0 - (A) —13 (B) =3 -ob
(A) water (B) sea ').O 45 5 . O.‘8 1—,- 04
(©) sky (D) air dl ©Z-p18 LA T
IR “IHTT P WS PET W 2, ik g 3
, fAferRaa & R | —aﬂ? |
@ g HET I R, Waﬁwzﬁam%f . A ‘{\;f‘
D' & Edr FAe wE o § AR AR Figh = @ e Red ¥ 'ZS)\\QQ:"W‘”
qﬁmm%?ﬁmwﬁwsﬂﬁﬂ#@ (A) =13 (8) =3 8= :
0 R 0 5, WAID=
. b €2 (D) =7
(A) Ty (B) Ty E’r M3 5 |
O (C) ar@rer gar o 60. What will come in place of question mark (?)
56,/ If by arranging the letters of the word .{' in Ml}g—se%‘sﬂ—x .
/\/\ LASBEBLA, the name of a game is formed, CE‘J P3C, R5F, T8I, VI2L, ...7..... x lr‘ 0
‘40 what are the first and last letters of the word so L’: ‘ AR X170 (B) Y170
9y formed? Ch (©) X17M (D) Y17M
4 (A) B,L (B)L,S e
onZ 6 (©S,L ~  (OLE ) .Wﬁ?ﬁ%ﬁwﬁ%m%w
? |
\,\g@f af ¥ LASBEBLA @ 3R} @1 arafer w
Wﬂmﬁammm%aw “ PAC,RSF, T8I, VI2L, ..."0....
YHR 99 ¥ B Ug 3R 3 deR @ § - X170 (B) Y170
(A)B.L ~ (B)L,S o (©) X17M - (D) Y17M
(€S, L (D)L, E ctp 81+ Select the correct alternative that shares the
57. In atournament 14 teams play league matches. ljr . '..same relationship as the given pair below -’
\'\g . If each team plays against every other team ¢-}, QxM:13x17:"DxH:?
)g once only then how many matches are played? CE l \/(Ayg x4 B)6x6
v (A) 105 (B) 85 . (0 4x8 © 4x6
i )78 @ e 1 T R S A R T R
) T Y
QK‘\ @ e 4 149 dm g dad §1 AR X < T T 8
\>  wdEw AW R gad dw @ e dad i Mix 135 17 « 3
W zrn@ad’t%a‘fﬁmﬁﬁu@émﬁ*? 3\)" P13X17::DxH:?
g\ @ios (B) 85 (c)j"‘; ::: 66
D) 78 x 4x6
RM L _ ,{/ﬂ JA T4 ,
118A-‘ ﬂ PagerH&j""



62. i 120 faemfi €, S @ a1 gfie
HaCPEFGHIKLMpOPaRsTUV WX o e W & R B W
\ '$ﬁ3'm'-ﬁmwm%|24m
If the second half of the English alphabet is for iR zfaem gyed &, 8 ddd Eﬁﬁﬂ'aﬂ?
reversed then which letter will be 4th to the 3ol Ted & iR 21 W o 3R SfUSh
right of 20th letter from the right? qed €1 32 ®ad T T 13 Bad 5%313
(A E LIBTK ugd | Afk daa TR TE Al ;'jm'i‘
© U (D) F L '9wﬁ%ﬁwaﬁmﬁ ’l‘”_’;;awg ?
» ' BTAl BT
ABCDEFGHIJKLMNOPQRSTUVWX ?2;#60% (B) 3% & @13 eI
VLT | (C) 50% (D) 40% ‘-
gfe IS qUiHTET Gl m YT B Iade 66. How many 3’s are there in the gjlgn_s_e_qugnce
fean Wy, @ B T MR TR A 209 &R which are neither %[gc_e_d_eg__by 6 and nor
% TR | e enn? immediately followed by 9?7
Series: 9366395937891639639
(A) E (B)K (A) 1 (B) 2°
. ©u (D) F (C) 4 (D)3
63. Find the wrong number in the series — - = g ¥ fran U9 3 € R qRa uea
2880, 480, 92, 24, §, 4, 4 6 3R RA 918 | 9 &I o 27
A 92 v ()8 aaes g : 9366395937891639639
B ©) 4 (D) 480 E (A) 1 UB) 2
SR ¥ o W T R — (© 4 (32 o3
5 é 2880, 480, 92, 24. 8. 4. 4 ~ \ 67.. In the following question, three of the givern
{A) A B) \'\/ ~ four numbered figures (A), (B), (C) and (D)
2 (B) 8 , are alike in a certain way. Choose the oné
of + ©a AD) 480 which is different from these three figures —
§ 5% Find the angle between the hour hand and the ﬁ‘:’ LASUSURE e E (A),
M 0O minute hand of a clock, when the time is g?)’ (C)aﬁgl(g)gﬁ il ?ﬁ:{g S ﬁﬁmz
325- ‘ ST 3T e |
(A) 4715° (B) 40° E/ SIEARRL iﬁ*{ 8 — _
Wie G @ BIERIRIR)] -
?EWWZSWWWW' ¥u’r ) = —=
LU & e Rt s o or e & 4 we T g
L Wy (B) 4¢° Q{IS ©B D
30 (C) 4515° (D) 45° QL { 68. ggi?to‘:i:;:i ‘thlf dtifferertl)ce betweﬁn the first
- . ighest number as we
9 There are 120 students in a class, who%ad lowest number after the positions ofatshgfﬁt?si
Maths or History or Eng.lish. It is known \th? twg,digits in each number of the following
no student can read all'three subjects. 24 rea\ series 738, 429, 156, 273, 894 are reversed?
only Maths and History, 8 read only History . :é; ‘; (g) 5
and English and 21 read only Maths and . - D)6
English. 32 read only Maths and 13 only IIFQ?F‘ k ”)%:”@. . ”!ﬁaamn_ii%‘tg?ﬁwa% 273, 894 @)
History. If 9 of the students who read only A m”@” T8 wieT & Ted 3.‘1?&? 95
‘Maths start to read all three subjects, then find B T @ qedy S @ i I;BFT aiﬁ_\’quz"
the percentage of students who read History? BT : .
(A) 60% (B) None of these\ A0 (A) 4 (B) 5
(C) 50% ’ (gm% m),\é!; A9 7 (D) 6
18A-®  \So . 7 ewas 978 THY STEI7T

e

e ¥
b

— =

384

2




Ol =~

63. Which of the following letters is 14" to the

right of 6“‘ letter from mc |cn m the Ln{,h'ih
alphabcl”

(A W ®r |4
ST (D) p

L0
Frfafed 3 2 @ ar srer sl ast e
H 90 W B3 WR D I N 1477 27
(A) W (B) R
T (D) p

70. 'How many times in a dax are the hands of a \
clock straight?

(A) 22 times

(B) 24 times  _ /(/

'Lq,a}/

—

2N Qs Lt
=B 20
7. If the 25" of Ocuﬁx:r ‘in a year is Thursday,
then number n@ondays in that month is

equal to -
v (A4 (B) 3
©) 6 LIPS

af v af % 25 R TR & A I
e i AR @) G R/ 2.4
wa 0 S ez 4
© 6 By’s

74. A tree increases annyally by 1/8" of its height.
By how much will it increase after 2 years, if
it stands today 64cm high? ’

(C) 44 times (D) 48 times 8 8 (A) 74 cm (B) 81 cm
\})’72 cm () 75cm
s &7 & w1 gt freh ar 0 . ]
# gl &° 8/ TP Ug GET SHH Hag B 1/8" W
(A) 22 TR (B) 24 4R { Tear 2, A I8 IS 64 WAL S B, A 299
(©) 44 TR oagmw V70 e g o gfe e
71. Select the correct alternative that shares the (A) 74 370 (B) 81 ﬁ"ﬁ.'
same relationship as the given pair below - . @mn Al (D) 75 .
Fog : Visibility : : AIDS : ___? M 75.. Find the largest number of four digits which
(A) Virus (B) Health gives remainder 4 when divided by each
(C) Resistance (D) Death 6,8,10 and 127
- (A) 9946 (B) 9964
|1 fasey &1 989 X o - Ry 17 oS (C) 9944 (D) 9984
@ |HF He" AT bRl ’a‘ = . .
BIE & IIAT : 2 TGH © P oy, AR P! PN IV HEA T B
LA arRa (B) <a<ed : 1 6, 8, 10 3R 12 y&® | o &
e N Al ?:) 9946 4 %L(B@M
72. One moming Udai and Vishal were talking to (C) 9944 By 0954
each other face to face at a crossing. If 76 )
Vishal’s shadow was exactly to the left of ' Us:? so;net;ulgl anl? ﬂlll? find out the right
Udai, which direction was Udai facing? » 'OpHiOn IGr the biaik Cell;
(A) North (B) East | g‘; ﬂa'aé'“ Frast &1 sarT @< Read e &
(C) South (D) West D feq ey —
UF |aE 9ed o Rua (@ dRE w 6. =
- ard Y < 9, afX fawe A | o %
BT Sag & dg ardi 3R o, al N LI lj
7 faw fam A ar? — .Y - l
AT e (B) gd (A) 33 g
(C) =feror: (0) afez & AL) 135 (D) 145
118A - ’ ./
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7. In the question given below two statements are
given, which are followed by two conclusions
Tand I1. You have to take the statements to be
true even if the statements are at variance with
known facts. Make a careful study of all the
conclusions and decide which conclusion

logically follows the given stmcmcm;\CV}iL—
they seem to be at variance from cormonly .

known facts.

Statements: All cakes are desks.
All desks are toffibs.

Conclusions: Nll toffies are dgk
11. Some tofhes are

/Y?()Dnly conclusion I follows
) only conclusion 1I follows
(C) Both conclusions I and II follow

(D) Neither conclusion I nor conclusion 1II '
follows

W oy v v § <1 ded Ry v €, R
SFERYT 1 fsweut 1 3R 1 grr B <iem
®| S Al W g W A smudT wer
F T AT & | 9t fput B

frepd W WY W S dedl | e wdi
ﬁﬁwﬁﬁﬁvﬁmﬁmaﬁw’rmﬁ

AT Bl .
T : T BD S B s,

i <% cifthat §| ;
g - 1 wf <ifthal &% B =

I 3B il &F 8| ! "bo‘—
(A) et Pt [ SR R L’:""’%

(B) Fadt ey 11 SR HRAT &

’s%

2

7, &

quatlons are solved on the basis of a certain
system, on the same basis find out the correct

answer for the given equation — =
If 5472 9, 6342=6,7584 = 6 then 9236 =

(‘_:\rl
(A) 4 (B) 5
& C)3 D2
YRRl @Y G R Jomedt o IR IR &
fpaT T &, 3 AR W) Ry T FHIER
HT [8l IR A aﬁﬁm -
afy 5472 =9, 6342 =6, 7584 =6 T 2"
9236=?. . ¢
(A) 4 - (B)5
L 1 (©)3 (D) 2
@130- Find the number of triangles in the given
o fi _
<t gure : . .
WO Ry g R A Beell @ e s S —
(- :
0 ‘\
e .
-
\ '
A ‘
—AR) 20, (8) 22
(C) 24 (D) 18

A man completes half of a trip at 30 miles per
hours and the other half at 60 miles per hour.
If the whole trip is 20 miles, how. much time
will he take to complete the trip?

(A) 75 minute (B) 30 minute'3 -

(C) 60 minute (D) 45 minute *~.°

(C) frepd 131k 11 ST JFERTT Il & oy & @ T T AT B AN 0 30 A wfy
(D)amﬁesélaﬁvmﬁﬁmnaaﬂm <f e Td o I g 60 Wi Why wR ¥ qof
el & e var ¥ AR g A 20 A B A, @ 7w
78. How many such pairs of letters are there inthe {00 310t =1 quf &4 # fobe T a2 ‘
word ‘FOREIGN’, each of which has as many : (A) 75 fyre \(B) 30 firre 10
Jetters bétween its ‘two letters as they have () 60 fire (D) 45 fimre 0
Iphabet? —~
/::)m/{een them in the En(gél;s:) alphabet’ 82 Find the odd one out -~
Al o (A) D22R (B) T36P T
©3 \X (D) Nil o o !
‘FOREIGN’ &% & aieri @ foberd ;ﬁ T?;g ) V248 ‘G29M ,8_3—4‘
forTa 7l S € R &, foree & 3 ; : o
quwmmg? fawm @1 ar e — 7?6 e 4 20
)2 B) 1 (A) D22R B) T3eP ..
(A
©) 3 (D) T T (©) Y248 _ABTG2oM _Z?:/
118A 0 Page 12 of 16 D 'LL 0‘8 \ XO
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Sﬁf;lt]lozlhljos 83 to 84 are based on pie-chart 86. If a mirror is placéd in position of LM, tﬂen
various ‘ﬁek‘j“ EXpenditure of a family ‘in which of the answer figures is the right mirror
S image of the given question figure?
wil & s =\01 & T IR ot F W/ B - /A
20% Qo %Omwﬁmvﬁvﬁﬁm%maﬁwaﬁ
ol LM @} Rerfey 3 var w7
B \D y o ’l 6 Question Figure —
4 30% W' wE phy ~
¢ : L
5%
83. The central angle of the C field is equalto- & !
(A) 1.8° 18 o
(C) 20° (D) 50 L?',; M
YT W 83 W 84 7% P Wi — v RO @) | ®) 1
FERT 2, S 0 IRar & R aw 90 : ‘
Ty B A R~ ‘-“, - ‘ (D‘; \
> A A
20% ;
- éﬁ% A question and two statements are given
33,/ below. You have to decide which statement is
o ufficient to answer the given question.
‘ P ﬁ ,M ow many doctors are working in a village?
Statements: 1. There is one doctor per one
C &3 FT DT BV qREX & — 5—“ S{o! thousand villagers.
(A) 1.8° (B) 18° "/‘?Of ¢4 oAS II. There are 20 wards in the )
(C) 20° (D) 50 04 village. Each ward has number
20 5 S’J
84. If the family expenditure is ¥ 56,000, the\ (3 of d‘:’C‘O‘Sfeq“‘:; to total |
difference between Lhe expenses of M} and /ﬂ (A) Only Lis Su?;:;ez: of wards. s _
F,E alto - E
gA) ?Z‘jgcq“ B easo A0k . (B OnlyIis sufficient »
(©) 7 4380 (D) % 4580 70 £ ' (C) Both I and II are sufficient together
' 1‘{ (D) Neither I nor II is sufficient
Hﬁﬂﬁaﬂaﬂmm%OOO?%Fﬁ(BC)/c N G SN
IR (F,E) & 213 31 S I & Sg L neffImmwmearswA
(A) 448% - (B) 4480% / ford dr dom g € 0 60
(C) 4380% (D) 4580% (@ ¥ fa Rifdcrs aria 82 «/L/
85. When 70 is added to 70% of a number, th!/i\ B 1 - ofy tw B 1 T (P l '
obtained number is equal to 70% of 150. -c;r ' ﬁﬁ%ﬁ‘ﬁﬁ %
Number is equal to - L0 _
i eq . - II T H 2 ?ﬂé B uds T A
(A) 50 (8) 100 SRS aﬁmmaﬁzﬁ
(€70 (D) 35 v WER 2| -
V4 TF HE@ b 70% § 70 Sher S g, (A)WIWW%
T A 150 70% F WR G TN B | (@) avqer 11 g 3
—% 50 iz (B) 100 L ‘c"aﬁq‘lﬁ;ﬁwmﬁl
\
(© 70 (D) 35 " léé%&e (Dmmmﬁ"m?'
[ 0o ¥ U
118A -. L*@ )b 35 Page 13 of 16 lqo 3‘-“1?6 /g%
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. persons is neither honest nor hardworking but

s

2550

L
Study the following infommtimﬁnswcr (

the question given below it.

K, G and H are intelligent. K, R and J are
hardworking. R, H and J are honest. K, G and
J are ambitious. Which of the following

1s ambitious?

PASS

(A) G (B) H
(C)R (D) K S
FrafolRe e &1 sraam W

T RY 17 g &1 IR )

K, G 3R 21 K,R3R J gt 21
R.H 3R J $9MeER 2| K, G 3R J wecrsed
B FafoRae & @ o aflm 9 @

IHER 2 ok W & A 2
AT

HEQATPHIEN &7
G (B) H
(C) R mk . ( CTOF

Read the following information and }nsae'r" Y
the given question - '

Aarti is older than Muskan. Gajendra is older
than Muskan but younger than Alarti. Keshav
is younger than Rajendra and Muskan.
Muskan is older than Rajendra.

Whose age 'is between Rajendra and
Gajendra? B '
(A) Keshav . /(B)’Muskan Nt

(C) Aarti (D) None of these -

ﬁw%%ﬁaa I BT ¢ AR Ry 7Y 98T F
W —
IR, DM | TG 8 | TN, TP A g
2, afd AIRD | BleT 2| B9, ToE iR
TEHH § BIET | TRHH, o= W a9 2|
fEae 98 o= oR o= @ 99 '?
(R) F¥r@ (B) I/
(C) IR ‘ (0) 319 & PIg 7TE |
A group of 630 children are arranged in rows
for a group photo session, Each row contains
three less children than the row in front of it.
What number of rows is not possible?
(A) 5 (B) 6
(C) 4 (D) 3

el WF @& g 630 a=dl & uw g
:‘rxﬁ gfyeal # eraRed faar omar 81 g
gy # Sga wrH B e @ A wa aw

&\ @ @ R @ e v T 87
(A) 5 (B) 6
4 (D)3

91\ The value of k for which quadratic e'q’uatibn kx

(x=2)+6= 0 has equal roots are -

(A) 36 ®ave

(C) 4 ©) 6

K o7 s farg feam wiieReT kx (x -
2)+6=0 P A AR & —

(A) 3v6 (B) 2v6

© 4 (D) 6

92. |f in a certain code language “DELHI” is

coded as “CCIDD”, “SIGHT” is coded as
“RGDDO", then in the same code language

“BOMBAY” will be coded as -
(A) ANIYWS (B) AMJXVR
(C) AMIXVS (D) ANKYUR

If va e g @ § “DELHI” &1 &2

“CCIDD” 2, “SIGHT” %I &e “RGDDO” &,
T F9F HE 9T ¥, “BOMBAY” BT @ 941

BITT?

(A) ANIYWS

(C) AMIXVS

(B) AMIXVR
(D) ANKYUR

93. In the question below, three statements }Zﬂ 6

+ and III are given. You are required to find out .
which of the given statement is / are sufficient
to answer the question.

How is Q related toT? M — {L
I. M and R are brothers.
I. § has two sons and one daughter, R being
_oneofthesons. "« = - ;
II. S is the mother of T and married to Q.
(A) Only 11 - (B) Iand II

S and 111 (D) I and 111

M T v e #§ @ w1, m R o
%lawﬁngwméﬁ;ﬁqwm
ﬁﬁ?ﬁﬁ—w/ﬁ?ﬁ‘éﬁmmméﬁ%
fore wata & /€| ’

Q, TV ¥ WbR waifrg ¥? "+
1-M 3R W& §)

M-S & a1 Y 3R uam oy 1o
U R T R A S

I[le.’l‘HﬁTﬂﬂTﬁaﬁ‘\'Q\qa—qT%a
(A) wael 111 (8) I aik 1 '?!

-(C) 113 1Nl () 1aiR 111
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diagram that depicts the

94,. Choose the Venp
: among Males, l"nhcm and

" correct relationship
Doctors -

i’;’mﬁg_mm“\’mwzﬁvﬁ%uﬁ

i
@ (0) ©O

85. If A denotes —, C denotés x, D denotes =+ ,E

AT

A X SR A 3R 75 #rex gen| R a8
il AR 91 AR 25 Mex war| fAR ag ardf
3R ST 3R 80 Aex wwerr | fR 7 < AR
45° @ BT R YI1| 3 W a8 fbwr fam ¥
el & A1? :
(A) gféror—ufdgm (B) ITR—74
(C) ITR—uf¥gw (D) &féyor—gd

99. )The following table shows number of
registered vehicles m a city (in lakhs) in
different years.
fr= iferar we wex # dofiga argHt @t
& (arEt #) fafsr aut § <wi 2

denotes* +, then 14C3A12E4D2 = ? / f& Year(alf) 1990-91 | 2000-01 | 2010-11
AN 32 |y (8) 17 (Y
(C) 28 (D) 6 ) Vehicle
afe A &1 f -, C o ok x, D @7 aef =, (are) I
E @1 31f +8, o 14C3A12E4D2 = ? A X Car ((W?)) 4.77 9.27 25.38
(A) 32 (B)17 Bus (49 1.02 1.71 3.51
(C) 28 (D)6 -, L)/ $% Truck (§6) [246 1|.5.04 11.04
' Bike (Aex|[0.81 ([2.85 45.27
DZ V24342442443 \/2+\/2+\/2+\/§ '\ﬂ\'\( RilEETY) ; o

e N 3 Others (3=1) | 0.12_,| .08 | 11.82
\/2 V2++2+4/3 is equal to - Y Total (Fe1) [9.18 '[19.95 [97.02
(A) 4 (B) V6 . ‘ U . If percentage of increase of total number of
©) 1 (D) 2 vehicles from 2000-01 to 2010-11 is made

\}7+\/_ \/2+ 2443 \/2+ 2++2+43 3.‘:(’
ﬁ—\/2+ Y243 R - (' E,)

equal to percentage of increase of total number
of vehicles from 1990-91 to 2000-01, then
tal number of vehicles in 2010-11"would be
ual to (in lakhs)?
2000 019 2010-11 T & Fo A& B

8
ol

(A) 4 (B) V6 ',S A &1 wfderd 1990-91 ¥ 2000-01 & Fa
©1 @2 (4 aﬁmiﬁuﬁmzﬁwé it 2010-
97. A cube is coloured blue on all faces. It is cut ’L‘; d aEEl @ wd H@T WER Bl
into 64 small cubes of equal size. How ‘many (ar@‘r ﬁ
cubes have only one face coloured? (A) 43.36 (B) 43.95
(A) 24 (B) 16 (C) 8 4 © 425 (D) 42
TS °q P Gl Berd! B Hel 1 9 AT T 100. Six persons are sitting in a circle. A i$ facing.B.
21 30 9HF AHR D 64 BIc Al § HIer B1stoFthenght0fEandleftof(‘ Cisto the left
fray a4 Tord TN of D. F i$ to'the right of A, Now, D exchanges
g;m E i w & “his seat with F and E. \ylth B Who v 111 be sitting
i c (D) to the left of D? ~
A 24 @B 16 (€ 8 4 ' (A) E (B B (c) D D) A
98. Mr. X walked 75 m towards North, Then he ¥4
turned to left and walked 25m. He turned left 6 afdd _q;ﬁ 1;{ i T A B IR I T4
. - d to right 21 B, E® &R 3 %‘aﬁ"\'C‘ﬁaﬂﬂsﬁ?%l
again and walked 80m. Then he turned tc rg,l C DB i A %I E. A <l ol 3 | 9
angle ° ich direction was he
?;(fnw:n{;:sa?]f ft)S . In which D, F® W A We -
7 g . & 9l E, B WM D ab ar
) South-West (B) North-Eas A E f\—(a) B (© D T A
(C) North-West South-East ' &
i Sf I B
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